
Grade 8

Mathematics

Unit: 05 Lesson: 02

Simplifying Algebraic Expressions KEY
For problems 1 – 12 do the following:
· Use algebra tiles to model the given expression.

· Draw a model to represent the given expression.

· Simplify the expression.

· Write the simplified expression that is equivalent to the original expression.

· Draw a model to represent the simplified expression.

Problem 1: 2x + 3 – x
	Diagram of Original Expression
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Remove zero pair: (−x) + (x) = 0
	Simplified Expression

x + 3
	Diagram of Simplified Expression
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Problem 2: 5x + 1 – 5

	Diagram of Original Expression
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Remove zero pair: (−1) + (1) = 0
	Simplified Expression

5x – 4
	Diagram of Simplified Expression
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Problem 3: (– x) + 4 – 3x + (−2)
	Diagram of Original Expression
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Remove zero pair: (−2) + (2) = 0
	Simplified Expression

(– 4x) + 2 

or

2 – 4x
	Diagram of Simplified Expression
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Problem 4: 2x + 8 – 3 + (−2)

	Diagram of Original Expression
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Remove zero pair: (−5) + (5) = 0
	Simplified Expression

2x + 3
	Diagram of Simplified Expression
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Simplifying Algebraic Expressions KEY
For problems 1 – 12 do the following:
· Use algebra tiles to model the given expression.

· Draw a model to represent the given expression.

· Simplify the expression.

· Write the simplified expression that is equivalent to the original expression.

· Draw a model to represent the simplified expression.

Problem 5: 3 + x + x + x – 4
	Diagram of Original Expression
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Remove zero pair: (−3) + (3) = 0
	Simplified Expression

3x – 1 
	Diagram of Simplified Expression
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Problem 6: (−4) – 2x + x + x

	Diagram of Original Expression
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Remove zero pair: (−2x) + (2x) = 0
	Simplified Expression

(−4)
	Diagram of Simplified Expression
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Problem 7: 3 – 3x – 2 + x
	Diagram of Original Expression
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Remove zero pair: (−2) + (2) = 0

Remove zero pair: (−x) + (x) = 0
	Simplified Expression

1 – 2x 

or

(−2x) + 1
	Diagram of Simplified Expression
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Problem 8: (−x) + 1 + x + x
	Diagram of Original Expression
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Remove zero pair: (−x) + (x) = 0
	Simplified Expression

1 + x
or

x + 1
	Diagram of Simplified Expression
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Simplifying Algebraic Expressions KEY
For problems 1 – 12 do the following:
· Use algebra tiles to model the given expression.

· Draw a model to represent the given expression.

· Simplify the expression.

· Write the simplified expression that is equivalent to the original expression.

· Draw a model to represent the simplified expression.

Problem 9: 3 – x – 3

	Diagram of Original Expression
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Remove zero pair: (−3) + (3) = 0
	Simplified Expression

(−x)
	Diagram of Simplified Expression
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Problem 10: 4 – 2x + 3x
	Diagram of Original Expression
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Remove zero pair: (−2x) + (2x) = 0
	Simplified Expression

4 + x
or

x + 4
	Diagram of Simplified Expression
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Problem 11: 3 – 3x + 4

	Diagram of Original Expression
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No zero pair.
	Simplified Expression

7 – 3x
or

(−3x) + 7 
	Diagram of Simplified Expression
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Problem 12: (–3x) + 4
	Diagram of Original Expression
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No zero pair.
	Simplified Expression

(−3x) + 4

or

4 – 3x
	Diagram of Simplified Expression
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